E050, Lesson 7, Differentiation

= n X clx n A
L.II_; I | x ﬁ"age‘

w = I C > 1‘_5 9 £

J 1:‘ .
— 1 £

b ll,-" " { n 3 _'ll'_d_‘
el &r Y. -fil.lf'

1 I,C. 3

o dy | - ¢ !
= =
A&

L
1 |r= '._:J =X + X T rert tioke
l / i ..J'f_-. L _.! G ¥ g &
1w EY: 4 'Tv
e v
2 .
X 11200
[Ir- o = Jin % K Ve



d& fon = Scr_zﬁ’ ) dsec® = sec & ton
& de

d ol® .- cosec & : d.cowecl = —cosec® ot
o de

Fa
F

(ﬁ:ﬂudﬁ‘xij_ =E’ﬂ$;‘li

® i

du
E[:a
Problem . 9ifferentiate y = 'Lscj ®

T

solution : y = lnqi *
d _d anq A %'312-1‘!“"
ﬁ = —5

dx 2 A % dx
- 2L =2
S T *®
y #

page 2




Problern . Dif ferentiate y = L"'ﬂe x

Solution . ‘f - lof!e 1{,?

d - d |,r1':-r:Ia
il
2
3 g %tf‘
page a
:_;L!?I?-'Ex E['f

Suecessive Differentiotion,

- 15+ g'x—qn\-q Find d f_!-_';f i‘;li
y ﬁ- }d_:ij cl?-

3
éﬂ_ _dex +3;+4)

d¥ a'f; 2
=5§% +3%:i= +%‘

3-1 -
3% 4 3%2® 40

—
—

2
=3 4+ 6&x

2 ?
dy =dcax +ex)
e i E
saﬁg"'- + 6 dx
* ., dx
=3dx2x 4 6

= X +*@




d Ex
=6 cla
CE page 4
= 6 + O

- Differendiation of m“puc"l Forctions.

Roblem - EJ'nHEnn{in.‘l-ﬁ- 'rL‘Z + };?" = 4
Soluion : L Cx +g) - dy
dar s
rj_ “'2 +d 2 _ o
L "
2 IEPLCLH. + 2 (j-g-l Cj-H o
L ®
=5 + € dy _
9 < o
?lj .ﬂ = = ’?‘Z
dx
dy .



Dilfesertion. Ex}
No.1 y = ox +3 , Ditferentiole .

page 5

= 4 1-3 e, TlVHfﬂ’-ﬂjlidle

Mo, 2 -}4
No.s. Dfferentiote =X 2
2x +5
Nﬂ-f.li Qi‘?%mnhaie. y-.:.%'ﬂ—lz 4 4% +1 -
Y -_q.'nca-kax.t —5% Y+ &
y = wEC2% =)
3 = 7144-1-4'-\-11 -:UI\H\ 'rcspeﬂ. ina

oo 12
3K 5% -4

No 5 Diffeentiole g 15

\ 5 74-_‘54-1 -23
35%1 —%’

g 2 (or- x)
T = '3.73 4+ 300 x4
x>
No. 6. D% ferentiate y =

gy Ko




h F{E-'r enhon

y =x
%: i B do (toeo Role)
4 »L page 6
%*i L clu;
by dsn® _cos®

Lj:ﬂ'lﬁ@"‘"",.;:—'g o cl,a" 6‘ Clay
dy dsn 38 —cos 3

qo
an 3¢ "’r—ia W ‘
- 3 cod 3
= o3 38 _dcos 3¢ | _sins& d3&
4= H%‘ de& - de
o = B B0 S8

3 %
y=5% +6x +7

d 3 2
B Vi 2 g

n
=]
=

a
=




Pb. y = smx + cos x

D'- = LLSm x g c_! COS x

- oS ® = Sin %
{_-J, — FIAY) ( R.U-llg)
dy g av _ g, dv v dat
I; = dl = M .E; o EI:;

3 2
Pro. g = (x +'-).a(1 b5 Miferenticate.
Yy =Cx +|)? (x +3)3

2 3 3
_zl[j=it+l} dox+3) yoxv3) dox +)
o dx dx

T 3 -l
() x3Cx+3) Jd x4
dx

3 2-1
(e +3)x2Ce+1))  dx+)

dx
2 2
=3Cx+1) (x+3) (dx » d3) +
dr dx
2 (X+3)Cx41) Cdx ¢ doo)
dr  dx
3 :
-_-3{1-%4)?(1 +0) 4+ 2+ (x+D) (L +o0)
(xt3)

2 3
2341 Cxea) 4+ 2 (x43) (x+D)



|
- S -3

Cl‘-I " \J%%F-M%
-3

" v

Po. Diffeentiote _ x

w *+1

(% +'}§E - x doe+d

%\1 , » e
¥ TR
= (L +1) = X
(x +1)°
= ]
(e +1)

page 8

Last modified: 29 Aug 2019



